
  

3.10. TM-150 

Dane techniczno-eksploatacyjne 

n1  

[1/min] 

n2  

[1/min] 
i d P1 [kW] MN  [Nm] PS [kW] M2  [Nm] f 

 
2

8
0

0
 

373,3 7,5 0,91 30,1 700 15 350 2,01 

280,0 10 0,9 23,8 730 15 460 1,59 

186,7 15 0,88 18,1 810 15 680 1,20 

140,0 20 0,86 15,4 900 11 650 1,40 

112,0 25 0,84 11,6 830 11 790 1,06 

93,3 30 0,83 10,2 860 7,5 640 1,35 

70,0 40 0,78 9,2 980 7,5 800 1,22 

56,0 50 0,76 7,1 930 5,5 710 1,30 

46,7 60 0,73 5,5 820 5,5 820 0,99 

35,0 80 0,68 4,0 750 4 740 1,01 

28,0 100 0,64 2,9 630 3 650 0,96 

1
4

0
0

 

186,7 7,5 0,91 21,5 1000 15 700 1,43 

140,0 10 0,9 17 1040 15 920 1,13 

93,3 15 0,88 13,9 1250 11 990 1,26 

70,0 20 0,86 11 1290 11 1290 1,00 

56,0 25 0,84 8,3 1190 7,5 1070 1,11 

46,7 30 0,83 7 1190 5,5 930 1,27 

35,0 40 0,78 6,8 1450 5,5 1170 1,24 

28,0 50 0,76 5,1 1320 4 1040 1,28 

23,3 60 0,73 4,2 1250 4 1200 1,05 

17,5 80 0,68 3,1 1150 3 1110 1,03 

14,0 100 0,64 2,3 1000 2,2 960 1,05 

9
0

0
 

120,0 7,5 0,91 16,8 1210 11 800 1,52 

90,0 10 0,90 13,3 1270 11 1050 1,21 

60,0 15 0,85 10,4 1420 7,5 1020 1,39 

45,0 20 0,83 8,3 1470 7,5 1330 1,11 

36,0 25 0,81 6,2 1340 5,5 1190 1,13 

30,0 30 0,78 5,4 1340 5,5 1370 0,98 

22,5 40 0,73 5,2 1620 4 1240 1,30 

18,0 50 0,71 4,1 1550 4 1520 1,03 

15,0 60 0,69 3,2 1400 3 1310 1,07 

11,3 80 0,63 2,3 1220 2,2 1170 1,05 

9,0 100 0,58 1,8 1110 1,5 930 1,20 

7
0

0
 

93,3 7,5 0,89 15,5 1410 7,5 680 2,06 

70,0 10 0,88 12,2 1470 7,5 900 1,63 

46,7 15 0,84 10,0 1710 7,5 1280 1,33 

35,0 20 0,82 7,9 1770 7,5 1670 1,06 

28,0 25 0,80 6,0 1630 5,5 1500 1,09 

23,3 30 0,76 5,0 1580 4 1250 1,26 

17,5 40 0,72 4,7 1840 4 1570 1,18 

14,0 50 0,70 3,6 1720 3 1430 1,20 

11,7 60 0,67 3,0 1660 3 1650 1,01 

8,8 80 0,61 2,2 1480 2,2 1460 1,01 

7,0 100 0,56 1,7 1280 1,5 1160 1,10 

42



 

tm

Dm

bm

P
m

170 210

340

240

1
8

O
1

8

14

5
3

,8

72 72

200

O
1

8
0

h
8

O215

1
7
0

1
5
0

4
0
0

3
0
0

185

200

145

O
5

0
H

8

M12x21 Tuleja zdawcza

O
1

8
0

H
8

7

15

155

O
32

0

O255

2
9

0

O16

2
5

0

R35
84 30

O
2

5

KA

82

87

O
5
0
h
6

M16x35

82

87

O
5
0
h
6

M16x35

14

5
3
.5

WJ WD

82

87

O
5
0
h
6

M16x35

 84kg 
 

 

silnik Pm Dm bm tm 

100/112B5 250 28 8 31,3 

132B5 300 38 10 41,3 

160B5 350 42 12 45,3 

RR

43


